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1. Choose the correct answer of the f0110wing _

woTe AR g Sea0s! A Shve ¢ PR

@i A cel.l becomes turgid when placed in
(a) isotonic solution
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(b) hypertonic solution

(¢) hypotonic solution

(d) None of the above

(PR o1 e = Gn%tn IR A W
(@) I we

(b) TGNT ww

(¢) EMF wwe

(d) €*Ra «Bre wEx

(@) The water held tightly by the soil

particles around them is known as
(a) field capacity

(b) runaway water

(c) hygroscopic water

(d) capillary water
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Wt sl Ko R viRewic B R
I ANE @[ =

(@) %7 ol

(b) AR AT

(c) SIE@ERl A

(d) TR AR
(i) Guttation takes place through

(a) stomata

(b) cuticle

(c) hydathode

(d) lenticel

e o el =2

(@ 7

(b) FEHE

(c) TEH

(@d) 5T
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(c) Warburg

] d) Blackman
(iv) Krebs cycle takes place 11 (d) Bla

ACETTARCHITS 2N = ST Teom 57
e e R

(@) chloroplast

(b) ribosome
(a) S TR

| (¢ mitochondria

(b) &
@) endoplasmic reticulum® I
(&% 5% wiefbe 27 (d) G
@ o (vi) Abscisic acid causes
b) ey

(a) faster leaf fall

© Tesrhpy

(b) dormancy of tubers

(c) retardation of growth

(d) All of the above

G/RC
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R eftws o
(@ G FE e 7"
(b) 7= ez
(0) e 9f eiferan

(4) ot e

il
Non- . : kﬂoq'
20 Protein part of enzyme€ 15

(a) hOloenzyme
( C) Coenzyme

d
;) g o the above
ﬁ(}[m
AT SHBRE @ Z

2. Write short notes on the following: (any

four)

2x4=8

oS AR by, (R fovat ¢ (et s1f<or)

(@)
(b)
()
(@)
(e)
(f)
(@)
(b)
(c)
(d)
(e)
()

Plasmolysis

Role of stomata
Chlorophylls
Macronutrients
Vernalization
Respiratory quotient
25 e TR

AT P

3. Write short notes on the following : (any

three)

st-_.- 15

wore fAIRA IO B ¢ (Rizen fofamy)

(@)
(b)

Glycolysis

Mechanism of stomatal transpirati
10n
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Tfens Afe #jfEs e Gisrg B e 2am
(c) Photoperiodism R fofs ciem SR TR Bl o
(d) Biological nitrogen fixation 2 BN Tfews e Rwm @ow (o
BNCETIoAT <34 |

e] Gibberelling
(e) Erp (c/) What is photosynthesis ? Give an

(@) oA account on mechanism of CO, fixation
expressing major steps and the end

(b) AT=IT AT AelieT] products in the process. 2+8=10

() Wi afsfemm AT {2 CO, TFoW afemig gay

(d) o TRy wgem FORTRR W T TS TR Torgrofe
38 «@fo (ot wife & |

(o) TERIGERR

(d) Describe Krebs cycle and explain the

s wiﬂg functions of various enzymes taking
% Answer any three of the f010x3430 part in it. 7+3=10
Questionsg - : P o A <R 2 R
2, i e aﬂd 41 fafen TermeT IR g 5=
itz fefay €
. ) actlv £
(a) Describe the mechanism Ofr by rooﬁlo
| Passive absorption of watel “gid
o
| 1R e o @ |
| 3t /
= i P;ﬁ
| ) i
J \:ha.t are essential elem‘; of af;yciﬁﬂcb
| O?Etlon ? Explain the rsheif de@* 4 OT HG/RC
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(b)

(c)

Peroxyacetyl nitrate is

mainly

responsible for .
(Fill in the blank)

T A YT (AEI9bGIa TZEE
IR | (3T 212 779 )
For which purpose oxidative ponds are
being used ?

- & P A @il RIESERE S R
Answer the following as directed : 1% ; ?H% «
o 4 B o (d) Write the full form of WCED.
e i el T T ¢ ol WCED ¥ 7= =% fowai
(@) Which one of the following 18 ™ 9 (e) Who mainly led Narmada Bachao

; jont
Tesponsible for ozone layer depletlo

Andolan ?

) co, il T oneeRs 8RR @iE «fRifsee
(i) Ccrc () Which of the following is responsible
for Bhopal Disaster, 3rd Decembp
) CcH, 1984 ? °r
) co e 558 59 © O Kafbs wotie TR
4
R 5 e - il @ FCRS @ W,
Wi e s ' (i) Methyl isocyanate
(i) Co IERIEGRIESRRIGH
2
i)  Nucl i
(ii) CFc (@) on:;:;; explosion
: R
fi) o
4
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() Mercury
AR
(iv) Sulphur dioxide

1
(9) Permissible noise level is measugﬁnkj
the unit of (Fill in the

S % e i a1 TR
(<7t 912 T

IR

-8
AL %
Give very short answers ;

(@) What i biomagnification ?
9 R i e
{b) Write a Short note on ac]_d raifl'

1 . %Wmaﬁﬂmﬁﬂ;

What is Xenobiotic (:ompOurldL ‘
IR e <o o

(d : 1
) Whay IS the role of central ? {
| Pollution poards. q@,ﬂ ft
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Write notes on : (any three) 5x3=15

O it ¢ (R fofab)

(@) Salient features of the Forest

Conservation Act, 1980
SRA I SR, Sdbo I T [RFBPTER
(b) Bioreactors

IARTS®

(c) Anthropogenic effect on global

environmental issues
(d) Water pollution
el ARe

(e) Ramsar Convention, 1971

QIR AT, S5

(a) Describe various processes used for

wastewater treatment,. 10
SCEIoA! 5 |
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(b)

Or/E4)

Write in detail about the role of NGOS

. ) Lo . 0
In conservation of biodiversity. 1

RO KR e Cafp SIS g
TR =i foy |

. :cal
Write an essay on biotechnologic?

f
approach for 1
10

managemeflt

€nvironmentg] issues.

o
R TR g %Wiﬁwml
TR B e o T

Or/ g t
lett
I

0

Where Was Gandhamardan and =

. 'C
Valley Movement organised ? cat
€

anal . comt
YSe the Impacts and oute 8410
o+

49

;:2?% Srra ool T gt

1 @7 e P
T Wit e
Sem~3/CBCs) BOT kg

t
fose Movements.

o

ke 14

(c) How is economic growth related to

environment ? Explain the possible
measures for better economic growth
without affecting environment.

4+6=10
R ce ey Tafs e e 2 oiREs"
wfo qoqite [REr TafoAiE T Aoz
(LR T AT Do <51 |

Or/S14<

Describe the major recommendations
made in Rio Earth Summit-UNCED,
1992. What are the similarities between
Qtockholm Conference, 1972 and Rio
Earth Sumit-UNCED, 1992.

7+3=10
oy By ARSI AT [ R iz
ol | T ARERE (09 3R, v Wisee
e Gl TS AT (R A ) 3y |
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